
ПDа=E-л<Eт =а уEлуг< 
1. �6то<4т874F8O уGUт4 8 4уд8т 

В<дO уEлуг Сто<<оEтP * 
1.1. 'Eт4=о6к4 �� / !т4=д4Dт=4O =4EтDо9к4 �� ��!�Л�&�О ¹ 
1.2. �=едDе=8е �� по пDоект=о9 теE=оло788 �о7о6оD=4O 

1.3. �уд8т л8Fе=78о==оEт8 �� «1!» 2 000 Dу5./ко<п. 2 
1.4. Ко=EулPт4F8O по =4EтDо9ке 8 поддеD6ке 

EеDт8D8к4то6 КЭ� 6 �� 1! 
2 000 Dу5./ко<п. 2 

1.5. �д4пт4F8O пDо7D4<<=о7о пDодукт4 длO Э�� �о7о6оD=4O 
2. 'Eлу78 E8Eте<=о7о 4д<8=8EтD8Dо64=8O =4 45о=е=тEко9 оE=о6е 

В<дO уEлуг Сто<<оEтP * 
'Eлу78 E8Eте<=о7о 4д<8=8EтD8Dо64=8O =4 45о=е=тEко9 

оE=о6е 
�о7о6оD=4O ² 

3.  4EH8Dе==ое EопDо6о6де=8е3
 

В<дO уEлуг Сто<<оEтP * 
3.1. Ко=EулPт8Dо64=8е теE=8GеEко7о EпеF84л8Eт4 по 

оD74=874F88, опт8<874F88 8 =4EтDо9ке 8=DоD<4F8о==OE 
547, Eете9 8 о5оDудо64=8O. &еE=8GеEк4O поддеD6к4 8 
EопDо6о6де=8е IT-о5оDудо64=8O (=4EтDо9к4 О! / �О, 

лок4лP=OE Eете9) 

 

 

 

 

 

 

 

 

 

от 2 000 

3.2. Ко=EулPт8Dо64=8е по D45оте 6 �� 1! (74 
8EклNGе=8е< ��, ук474==OE 6 п.п. 4.5 - 4.7) 

3.3. Ко=EулPт8Dо64=8е по 6еде=8N D8=4=Eо6о-
Eо7O9Eт6е==OE опеD4F89 6 5уE74лтеDEко< 8 =4ло7о6о< 

уGUте 6 �� 1! (6клNG4ет 6 Eе5O уEт=уN л85о п8EP<е==уN 
ко=EулPт4F8N EпеF84л8Eт4-ко=EулPт4=т4, =4EтDо9ку 
уGUт=о9 пол8т8к8 8 п4D4<етDо6 уGUт4, EоEт46ле=8е 

Dе7л4<е=т8Dо64==о9 отGUт=оEт8, 6=еEе=8е 8EпD46ле=89 8 
87<е=е=89 6 547у кл8е=т4) (74 8EклNGе=8е< ��, 

ук474==OE 6 п.4.5-п.4.7) 
3.4. �оD45отк4 �� 1! по 74пDоEу (87<е=е=8е 

EуIеEт6уNIе7о 8 Eо7д4=8е =о6о7о Dу=кF8о=4л4) 
от 10 000 

3.5. 'Eлу78 (по п.4.2.–п.4.3.) длO �� 1!:К�, 1!:ERP, 1!:'Х, 
1!:КоDпоD4F8O 

от 2 500 

3.6. 'Eлу78 (по п.4.2.–п.4.3.) длO отD4Eле6OE ² �� (74 
8EклNGе=8е< ��, ук474==OE 6 п.4.7.) 

от 2 500 

3.7. 'Eлу78 (по п.4.2.–п.4.3.) длO отD4Eле6OE ² �� =4 547е 
1!:К�, 1!:ERP, 1!:'Х 

от 2 750 

3.8. 'Eлу78 (по п.4.2.–п.4.3.) длO �� 1!:'�� от 2 800 
!то8<оEтP уEлу7 (п.4.1.–п.4.8.) пD8 =4л8G88 де9Eт6уNIе7о 

до7о6оD4 (т4D8D=о7о пл4=4) =4 л8Fе=78о==ое 
EопDо6о6де=8е �� 1! (D47дел 2 текуIе7о пD49E-л8Eт4) у 

дDу7о7о п4Dт=UD4 

от 3 500 

* НД! =е о5л474етEя 6 Eоот6етEт688 E п.2 Eт. 346.11 7л46O 26.2 Н4ло7о6о7о КодекE4  Ф  

1 - �D8 покупке �� 6 7Dуппе ко<п4=89 «ИТ !лу654 Т�3». �одDо5=оEт8 у <е=ед6еDо6.  

2 - �одDо5=оEт8 у <е=ед6еDо6.  

3 - 4Eш8Dе==ое EопDо6о6де=8е 6о7<о6=о толPко пD8 6Oпол=е=88 уEло689 л8це=78о==о7о 8EполP7о64=8я �� «1!».. 


